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1

N.RN.A.2: Operations with Radicals 2

 1 Simplify:  5  23  44

 2 Simplify:  3 2  2 33

 3 Simplify:  ( 3  23 )  63

 4 Simplify:  403  1353

 5 Simplify:  
20  4004

22
1
2

 6 Simplify:  
1
8
 1

2
3

 7 Simplify:  
12

163

 8 Simplify:  

3 50  44  2
1
2

18

 9 Simplify:  12  7294  1
3
 3

 10 Simplify:  813  2
25
16

4  1923  2 125
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N.RN.A.2: Operations with Radicals 2
Answer Section

 1 ANS: 

40006

REF: 019013al
 2 ANS: 

81
8

6

REF: 099511al
 3 ANS: 

36

REF: 090511al
 4 ANS: 

 53

REF: 019111al
 5 ANS: 

4 2
3

REF: 019309al
 6 ANS: 

26

4

REF: 069307al
 7 ANS: 

4326

2

REF: 019713al
 8 ANS: 

5 2

REF: 099810al
 9 ANS: 

3
3

REF: 030504al
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 10 ANS: 

11 5  33

REF: 010610al


